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READ THE FOLLOWING DIRECTIONS CAREFULLY!

1. Before answering any questions read through the given notes and
examples for each topic.

2. This packet is to be handed in on Friday, August 18.

3. All work must be shown in the packet (part I) and on separate
paper (part II).

4. Completion of this packet is worth 100 points.

5. There will be a 10 point dock for each day the packet is turned in
late.

6. ALL work must be organized and neatly written.

You may seek assistance from any source as long as the end result is the
answer “yes” to the following questions:

Do I understand how to work the problem?

Can I rework the problem myself?

Can I explain it to another person?

Can I work another problem similar to it?

Do I know the concepts required to work this problem?

e Could I extend my knowledge of this problem to apply it to
another application?

e Could I use my knowledge of this problem to complete a problem

on a test that requires the use of concepts developed in this

problem?
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PARTI FUNCTIONS

(show work on packet sheet)
To evaluate a function for a given value, simply plug the value into the function for x.

Recall: (fog)(x)=f(g(x)) OR flg(x)] read “fof g of x> Means to plug the inside function (in this case
g(x) ) in for x in the outside function (in this case, f(x)).

Example: Given f(x)=2x*+1 and g(x)=x-4 find flg(x)).
fgx) = f(x-4)

=2(x—4)* +1
=2(x” —8x+16) +1

=2x7 —16x+32+1
F(g(x)) =2x> —16x +33

Let f(x)=2x+1 and g(x)=2x>-1. Find each.

1. f@Q=_8§& 2. g(=3)=__ V1 3. fe+l)= _FEFD
SR o0 -3)= A3 ger= Alex )+
L - = \9-) =2Jtran)
§ b
4. flg(-2)]= 15 B 5. g[f(m+2)]=3° +Yom+44 6. [f(x)]z_zg(x)= Ux+23
Al-a) = 2(-ay=1 R = 2N F] Smwa) = 2(med) ¥ (g - @ Lax?-1)
J - 2

a
alamrs) = 2amrs) =\

Gxx5
2(4m?y 3omras )"
Let f(x)=sin(2x) Find each exactly. gm? rYom¥rso—|
-~ 48
7. f[ﬂ: \ 8. f(%”}: = )
: T!"' Y5 _ﬁ,’w

o snl@®) 83n (2% BIRDN
g a f
] ST ain (1773

Let f(x)=x", g(x)=2x+5, and h(x)=x"—1. Find each.
9. nf(-2))=_15

2 G
10. f[g(x—])]: L{x -l—]i;?(l"q 11. ,gr[h(xa)]=a\r‘K ‘\'3
L ¢ e 6- 5\2"\
~ =(-aY) = 4 Q\(X-\\:Qk* ‘\\"' \ 33: X )
$ 3\ 3 N = w =g T hix ?(('u_\
hf\u\-\ e I-f - "\ ‘553?‘?“'-.)) PRI poee
& % (X)) = AR =VITS
yx?y 1ax 54 o s



INTERCEPTS OF A GRAPH

To find the x-intercepts, let y = 0 in your equation and solve.
To find the y-intercepts, let x = 0 in your equation and solve.

. ‘T

venlercept
[{ERY]

vinlercepl

*
ey S

Example: Given the function y = x> —2x -3, find all intercepts.
it Lt 50 y—int. (Let x = 0)
0=x*-2x-3 =
0=(x—-3)(x+1) y=0"—20)=3
x=-lor x=3

x —intercepts (—1,0) and (3,0)

y=-3
y—intercept (0,-3)

Find the x and y intercepts for each.

12, p=2x—5 13. Pt 4 x=2 2
= %= - = X Fx-
Y=2(0)-§ ,D”M y= 0¥0-4 ‘ o {\;x;\ ot
V= -§ Sla=x - 0=
[ e w e T
~ | / P I . ... S -
(0,~§ ) \ * M; 0) ‘ | (0, 2 / (-3 0) _{\30\)
,: \ \ \ iy .

b e
= 0 (-0 0= X Vlo-x
D X=0 Ji-x"=0
. lo-5"=0
TR | ) Y
_ ¥y




POINTS OF INTERSECTION

-10 = S b Vs

At the pomt ¢f intersection
(x,y) cobrdinates are the
same for cach line.

&

ELIMINATION METHOD
Subtract to eliminate y
x?-x=2

x*-x-2=0
(xﬁZ)(x-f-l): 0

x=2or x=-1

Plug inx=2 and x =—Ito find y

Use substitution or elimination method to solve the system of equations.
Remember: You are finding a POINT OF INTERSECTION so your answer is an ordered pair.

CALCULATOR TIP

Remember you can use your calculator to

verify your answers below. Graph the
two lines then go to CALC (2™ Trace)

and hit INTERSECT.

Example: Find all points of intersection of x

Points of Intersection: (2,1) and (—1,-2)

2_y=3
x—y=1

y=x"-3
y=x-1

x*-x-2=0

SUBSTITUTION METHOD

Solve one equation for one variable.

Therefore by substitution x* =3 = x —1

From here it is the same as the other example

Find the point(s) of intersection of the graphs for the given equations.

16 X+ y=8
' dx—y=7
R e R
:;, S A 1
Y 2
o &
(= ¢
(=5
. -
{ (2 &
\ L 32
\ ;
T

2 _
7. X' +y=06
x+y=4

| — R ¥

1§, #=
y=x-1
Qx:y%\
3
d.
NV =3
V *"\f e g’:
gy (Y =V Y= )
. -
=3
o v = W\
e 2% 4
X= ~a& s =
r#iLj_*«-MHH
o P




DOMAIN AND RANGE

EXAMPLE 1

& Fmmd Domamn $ Ronge of gix),

Tre domain is the set of inpus fetof +e Eunction

T nput alves run alog dhe hordenhal oxis,

The Sortrest ledr medt valve assiadod with & ph.onia,
Greph 18 =3, The Furdmest rdght (apdrvalves associaved
LaRIA & P, TR gt iy B

So Dumam iy [F3.8] ) Pl s all muls Ly -2 %03,

“The roinge regiaaesd e serok ovrpdryolws For Yhe,

Formdridm, Ourpdrvalves run al e vertice) oxXis,
“The luvesh oXpd wilve of Be fundrinis =~ 2 The.
Mighast is 1. So-a vunge 13 [-2,1] | aliwals
Prer -2 4o

Domain — All x values for which a function is defined (input values)
Range — Possible y or Output values

EXAMPLE 2

Find the domain and range of f(x) =4 —x’

Write answers in interval notation.

DOMAIN
For f(x)to be defined 4-x*>0.
This is true when -2 <x <2
Domain: [~2,2]

RANGE
The solution to a square root must always be
positive thus /(x) must be greater than or equal
to 0.

Range: [0,)

Find the domain and range of each function. Write you‘r answer in INTERVAL notation.

19,

DO

NATNG Q.
St

[-3,2 ) \

s /D\owr\g{*. (—0%0\ (OJ-(:Q\ \

Ha= w5 - 0 f)=E
(20,29 i /!"Dc;ﬂwnf\ [ <%y ‘00\
% / 4 ~\
L-5,90) [ Roange t (=990 )
. 5 :.\1_
. f(x)=3sinx |, 22 f(x):—] S
\ x; ‘

Y T3

;-m)’xﬁ Dot X\

N AR \
'\.-OOJ\_)‘e ) ‘:),' \




INVERSES

To find the inverse of a function, simply switch the x and the y and solve for the new “y” value.
Recall /™' (x) is defined as the inverse of f(x)

Example 1:

Jre)y= Yx+1 Rewrite f(x) as y

¥ = Y+l Switch x and y

X=3y+1 Solve for your new y

(x) :(3 y+1) Cube both sides

X' =y+1 Simplify

y=x"-1 Solve for y

f'(x)=x’=1  Rewrite in inverse notation

Find the inverse for each function.

23. f(x)=2x+1

W’:;;Z?i*- \

25. g(x)= >
x=2 o =N
x—a & 5, -
= ____31_"1
5__ - _,,.X
N—d - &

. A e

Yoo x> /
3
X
Xz 1 _
B
¢
26, y=d-x+1

X:(T.,f:\’r%—\

e P
..‘X__\‘ —_ (-.{ L’..-\i ‘}

(x-1y = Y-Y
N = H—-(_Y‘\

“lond

\
v <

whop X =C

.7

27. Ifthe graph of f(x) has the point (2, 7) then what is one point that will be on the graph of /™ (x)?

(7,2

Yol ock Yhe

28. Explain how the graphs of f(x) and f™'(x) compare.

Y:AX

l\'ﬂ’e_



EQUATION OF A LINE

Slope intercept form: y =mx+5b Vertical line: x =c (slope is undefined)

Point-slope form: y-y, =m(x —x,) Horizontal line: y =c (slope is 0)
* LEARN! We will use this formula frequently!

Example: Write a linear equation that has a slope of /2 and passes through the point (2, -6)

Slope intercept form Point-slope form
y= %x+b Plug in ¥ for m y+6= %(x—fz) Plug in all variables
—6= %(2) +b Plug in the given ordered y= %x—'/‘ Solve for y
b=-7 Solve for b
]
==
3

29. Determine the equation of a line passing through the point (5, -3) with an undefined slope.

}’ .l

30. Determine the equation of a line passing through the point (-4, 2) with a slope of 0.
oA y= 2

31. Use point-slope form to find the equation of the line passing through the point (0, 5) with a slope of 2/3.
’D
N-s= F(x-0)

(__ N = ——- ¥y S
32. Use point- slope form to find a line passmg through the point (2, 8) and parallel to the lme y= gx -1.
_ : . Nyl 2 -:- b k| \6\ ‘\
i (Q 8) ! 8= B A7 Y= f’-(’—’ X ¥ 3
\,rcgf—b—x~_5:. s =
-1—(' A0 s B
33. Use point-slope form to find a line perpendrcular to y= —2x +9 passing through the point (4, 7).

N = il\ A () \! -~ X -‘rS "-.
\\l _"] = -Ex "D« i = " . IS

34. Find the equation of a line passing through the points (-3,-6).and (1, 2).

D led 4 N == = w2 Qe;) g-2==1(x=1
M= 3 el | = \I‘L’ = =% e \!,,‘;_1 = =X x|
y=—xr3 \ N=—AT

35. Find the equation of a line with an x-intercept (2, 0) and a y-intercept (0, 3)

3 .
P . |
(\(\f::g) N ="2%X ¥>
) o



UNIT CIRCLE

a

va | =

=
bt

You can determine the sine or the cosine
of any standard angle on the unit circle.
The x-coordinate of the circle is the cosine
and the y-coordinate is the sine of the
angle. Recall tangent is defined as sin/cos
or the slope of the line.

Examples:

sinE:I coszz(] tanzzund
2 2 2

*You must have these memorized OR know how to calculate their values without the use of a calculator.

b.) coséﬁr—
2

£ cos(-)

|1

. 1z
n) sin —
6

’ T
c.) sin (—EJ

S
.} — \ i [ — \rf;

i

g)cos = h) sin—
o )



TRIGONOMETRIC EQUATIONS

Solve each of the equations for 0 <x <27x.

37. sinx=—l
ne T NnWw
lil SURE G T
39. 4sin’x =3

*#*Recall sin’ x = (sin x)°
**Recall if x* =25 then x =+5

38. 2cosx:\/§
ﬁ

05Xz =
C A
U
= o)

40. 2cos’ x—1—cosx =0 *Factor

d oL % = €08

|
x -\=0 P

9 2 TR @Wﬁ "“)/\COSX -\ ) =0 )
S\nx = § I K =\
L.{,, {3 1 0sxX= "3 cosk=1 |
SAnX= f\“é = E__;_,,__mw /Ej_ff} f ]'
) Vs ( K= 2.0
e Tla, 2013, /_5 " S
« TRANSFORMATION OF FUNCTIONS
h(x)=f(x)+c Vertical shift ¢ units up h(x)= f(x—c) Horizontal shift ¢ units right
h(x)=f(x)-c Vertical shift ¢ units down h(x)= f(x+c) Horizontal shift ¢ units left
h(x) =—f(x) Reflection over the x-axis

41. Given f(x)=x" and g(x)=(x—-3)>+1

\ )
Q\ji\¥ D

vp |

. How the does the graph of g(x) differ from f(x)?

42. Write an equation for the function that has the shape of f(x)=x’ but moved six units to the left and

reflected over the x-axis.

L) = — (x+6)°

43. If the ordered pair (2, 4) is on the graph of f(x), find one ordered pair that will be on the following

functions: ¥.3=2

b) f(x 3)

[

a) f(x)-3

(2,\)

(9)8“)

X—=2= 2

A=Y
A=

d) f(x=2)+1 e) —f(x) .

¢,

) (9)""\/




VERTICAL ASYMPTOTES

Determine the vertical asymptotes for the function. Set the denominator equal to zero to find the x-value for
which the function is undefined. That will be the vertical asymptote given the numerator does not equal 0 also
(Remember this is called removable discontinuity).
Write a vertical asymptotes as a line in the form x =
18
Example: Find the vertical asymptote of y = % ¢
x— 4 i
Since when x =2 the function is in the form 1/0 , i\
then the vertical line x =2 is a vertical asymptote il ”3 N
of the function. LRI e o R
S Y
-4 lh
% "
1 x? 2+x
44 xX)=— 45 X )= 46. =
JS(x) = S(x) 77 Sflx) = 207
s
X,.‘.-‘U _'32...1. -
. _j’?_____,f :_)/ X'=8 |I=~X20
= ! / Ay 2 ] )
| = | =
x X J J] Xx=0,) |
~ ( \ ( —
| |
4-x -1 5x+20
47. f(x)= 48. f(x) = 49. =
S =5 SO =5 fo) =5
4<X X ) (x+U
S Y 0= Ty e P .._,.-—-—)—
* (xxu) x4 ) (X +a) , ¥) [ X;
= Ya-2=0
VP X~ =0
b ~7"’ > f - A[ T
{
| [ x=- |
x‘\r {j = Q \ \ f/{ / E\
e \ A\ N
X= -4 | \___—
: =1
NoT  X=H e
P 0
pie M



HORIZONTAL ASYMPTOTES

Determine the horizontal asymptotes using the three cases below.

Case I. Degree of the numerator is less than the degree of the denominator. The asymptote is y = 0.

Example: y= Ll (As x becomes very large or very negative the value of this function will

approach 0). Thus there is a horizontal asymptote at y =0.

Case II. Degree of the numerator is the same as the degree of the denominator. The asymptote is the ratio of
the lead coefficients.
25 +x—1

5 A (As x becomes very large or very negative the value of this function will

Exmaple: y =

’ : 2
approach 2/3). Thus there is a horizontal asymptote at y = ~

Case III. Degree of the numerator is greater than the degree of the denominator. There is no horizontal
asymptote. The function increases without bound. (If the degree of the numerator is exactly 1 more
than the degree of the denominator, then there exists a slant asymptote, which is determined by long
division.)

2x* +x -1 ; ; ; :
Example: y = ————— (As x becomes very large the value of the function will continue to increase

and as x becomes very negative the value of the function will also become more negative).

Determine all Horizontal Asymptotes.

X’ =2x+1 2
I R — [ 5x7=2 8 4
0. 0775 WOE ;T;:S 2. f(0)=55—
/,;_ 7 i- / R S y
i |" } B . g f :: q |
/ Y Q \ { Y - i ‘7 2:’ 13.-
(k _— \ \ !I/ A
2 f()_M 54. f(x)= \/%—H * Remember \x? = +x
X +Xx
» as i PR —
_20x14S
LI—'X"" “%ww \" Y= ’3 when X *%GO \
N & B \ .\:

e L‘-, Sy p \
y=4 | |y 3 when x> -0
; ; L e & = O :

*This.is-very-important in the use of limits.*

{

4



EXPONENTIAL FUNCTIONS

Example: Solve for x

4.t+l _ [l]axz
2

@) ()

Get a common base

22x+2 — 2—3.\'+2 Slmpllfy
2x+2=-3x+2 Set exponents equal
x=0 Solve for x
Solve for x:
55, 370 =g 56. (l) =27+ 57. [ J =216
2%+ 9 [ %3y 6
) _ o J i X I’ 3 v i i :5
(3 Vo3 ) v
g Yxxe R
:%L#-—)i“—\ - a‘;( = X+ Ve (o ’
2 e ( _,\‘\ - N ¥
— / \\ W /
2\ [ . .}‘_ B : X 3)
2 T\ )
| S \ A= 5
“LOGARITHMS | B

The statement y =" can be written as x =log, y. They mean the same thing.
REMEMBER: A LOGARITHM IS AN EXPONENT

Recall Inx =log, x

The value of e is2.718281828... or lim (1+1J

X—ya0 x

Example: Evaluate the following logarithms
log, 8="7

In exponential for this is 2" =8
Therefore 7=3
Thus log, 8=3

Evaluate the following logarithms

e 5 |
58. log,7 £ \ | 59. log, 27
\o9y,3”
| 257 —
2|
60. logzﬁ Bl 10525 '-’;’"'x#
- r———‘—_’"-‘_ » - -‘,\"
a2 =& | 45, == {

\.,v/"f
62. log, 1= x 63. log, 8=

q x‘..‘f | ~— {_{x,_. ? :
| = XF .
[Ow o=a", 2; -
64. InJe 65. In— -
\l e
\\1\9. & ] -\
= / \ne
2 S e :
A (N /

11



PROPERTIES OF LOGARITHMS

log, xy =log, x+log, y logbizlogbx—logby log, x* = ylog, x BB = x
Y

Examples:

Expand log, 16x Condense Iny—2InR Expand log, 7x°

log, 16 +log, x Iny—In R’ log, 7 +log, x°

2+]log, x ln% log, 7+5log, x

Use the properties of logarithms to evaluate the following

66. log, 2° 67. Iné’ 68. log, 8 69. log, 3/9
7 3\2 3s

e

‘ i l ()
/ S| 3 | N, @ 10353

¥

|

|
L
_D
0

70. 2w 70, e 72. 9Iné’ 73. log, 9’
] e | a.9 : |
K OJ /8 | = =3
L2 K [~
74. log,, 25 + log,, 4 75. log, 40—log, 5 76. log, (V2)
- (g ] H0. L 5/
\0-3 1y \¢ o ) 033 5 1%(} o/

ax)j\o

5
oy

| Ojﬁw I, o




EVEN AND ODD FUNCTIONS

Recall:

Even functions are functions that are symmetric over the y-axis.
To determine algebraically we find out if f(x) = f(—x)

(*Think about it what happens (o the coordinate (x, f (x)) when reflected across the y-axis*)

Odd functions are functions that are symmetric about the origin.
To determind algebraically we find out if f(—x)=—f(x)
(*Think about it what happens to the coordinate (x, f (x)) when reflected over the origin™)

State whether the fo!]owmg graphs are even, odd or nelther,

Phow ALL work.

ceflect

)¢ O\ : oI
77._QJRN: %oﬂ ts NeWTho” * o NOL Sl o or
¥ AV
f \UA\//\U/ L
N v
WANEAN 0. OOV
f(x) 2x* Sx A g(x)=x —_?uc3 +x
Xd &ll“)’i\ - S-_,' _‘_x\ C\;( °"K_} - ::'ﬂ'( ", 5 “T ' -'f‘= oo 1. f_.,.h
= axT-54* z-x k3% =X Nl
Y
LAY, \
s1. (levfhoc 82. V0N x|
h(x) =25 —5x+3 J(x)= Pepsx el
Nl ) b ~A) - S(-X )Y = d cos(=x) W) v
AR ¥FEXAY D A Co5x% 0;’0\; ,
M
83. ‘(\\Q\s{\\Q( 84. 'Q\)QY\ —,J
k(x)=sinx+4 [(x) =cosx—3 '
V() = sin(-x) ¥Y [(-x) = (05 “—Y\ —
- SN X "“f’ (05X =3

.1.1\{\

13






Part Il Limits and Derivatives
show work on separate paper

1. For the function ¢ whose graph is given, state the value of each quantity, if it exists. If it
does not exist, explain why.

a lim g(x)
b, lim () T o
. lims( e
d. 2(-2) +
e. lim g(x)
h e(2) |

i. j_i:}ggg(.x-) e

Jo limg(x)

k. £(0)

2. Forthe function g whose graph is given, state the value of each quantity, if it exists. If it
does not exist, explain why.

a. limg(r)
1—0"

b. 1i133g(!)

. (L)

d. limg(r)

g

e. liagg e(1)
f. limg(s)

=2 b
g &(2) AN
h. iiu}g(t) N SO IO S L

3. Forthe function R whose graph is shown, state the following.
a. ljn}]v?(x) R
b. limR(x)

35
c. lim R(x)
x—3-3"

d. lim R(x)

x——3
e. The equations of the vertical
asymptotes

15



4, Sketch the graph of the following function and use it to

determine the values of ¢ for which lim /(.v} exists:

{ I—nx, forv<—1
34 Fla)= ! X, tor —1<v<]

[ (v=1). forv =l
5. Determine the infinite limit
) G ) 2—x . r—1
a. lm—— c. lim ~ e. lhm —
=55y — 5§ A=ty — 1Y == v+ 2)
, , x—1 '
b. hm -~ &, ‘B
=57y — 5 =0 v (4 2)

6. Given that lim f{v)=-3, limg(x)=0, and lim/i(.x)=8§, find the limits that exists. If a limit

At A=

does not exist, explain why.

a. lian,[f(xjdrh{.\'_)] e lim Flx) b lim RYERY
et B " =ah(x) e ()= f(x)
b. hm[j (1)} ) VA
A= e . " Bx
¢ Lmgfh{x) b hdu} 7(x)
I —— g Iim'”'\}
aa f(x) v p( )
7. Evaluate each limit
a, 1}_1}1(%\4 +20 -y +1) c. lim(r’+ 1) (1 + 37 e lin V16—
S | / 3 ¥
b, lm——— ! - d. hmi _1%‘— I
ST O -4 =T L4+ 3t
8. Evaluate each limitif it exists (use algebral)
’ i Fve D
a. lm——m— g gt 2
==320 4+ Tr 43 =7 v=7
4+hY -16 1.1
b. ]imu o B g
0 I d. hm*—%
==t d 4 v
I §—3>, K52
9. Let f(x)=1
‘ =2, a»2
a. Find }i;l‘l_f(.\') b. Find lim f{x} c. Does }illjj'(.r) exist?

10. Use the definition of continuity and the properties of limits to show that the function
F(x)=x"++7—x iscontinuous at v =4,

11.Find the x-values at which / is discontinuous. flx)=

S ) N

= s
+
-

ra
i

1A

)

o



cx+1, x<3
?

12. For what value of the constant ¢ is f(x) continuous on {—e,) if f(v)= s g 5
ex’ =1, x>

13. Use the limit definition of the derivative lim /) =/(@) to find f'(a).

—a  x—q

a. f(x)=3-2x+4x7, ata=1 b f(x)=

FROM THIS POINT ON, YOU CAN USE RULES FOR DERIVATIVES... NOT A LIMIT DEFINITION
Leave no negative exponents in your final answers.

14.1f g(x)=1-x", find g'(0) and use it to find an equation of the tangent line to g(x) at (0,1)
15.1f f(x)=3x*~5x,find f'(2) and use it to find an equation of the tangentline to f(x) at (2,2)

16.Use the graph to estimate the slope at each point (sketch a R
tangent line at each point and approximate its slope).
Then use the values to sketch /'(x)

o /(Y

b. f'(-2) i I
d. f'(0) P

e. () |

. f(2)

g J'(3)

17. Match the graph of each function in a-d with the graph of its derivative.

{aj X (b} ¥4 . ¥ i ¥a
N |
/ {
l‘ ~ } *
| //E* i x
Vi
w4 !

i

Hi . ¥4 v Ve

| E

. \ |

() “t () “: ‘\ N ) |

| . U - = I S i
e fridand \ /o \ 3 R

T e o, VA
| \

e

17



18. The graph of g is given.

a. Atwhat numbersis g discontinuous? L
Why? \ I
b. Atwhat numbers is g not differentiable? \ '
Why? s 4 | | b
e\ |V T
_g/ o '
Koy xi.(‘ F NN S it w::
!
19. Differentiate each function. (Power Rule)
()=186.5 ;
Florjr=188 g. f(z):lt"—’jz"‘ﬂ L j(.*):\/zf_—L
b. f(x)=+30 i i
; v S
c. flx)=5x-1 h. V(‘r):g:rz'r3 m: ¥= 1/_
4.0 ) n. y=<x
d. Flx)=—4x i R(r)=5:" e dy?
e. g(x)=5x"-22"+6 i v()=6 0. y=4nr
17, ) p. g(u)=2u+3u
f. flr)==(*+8) L 10 1
4 ' k. R(..’. ) = x.', q y=x+ T
20. Differentiate (power, product and quotient)
d. y= \/;__1
a. y=+Jx(x-1) I
b, g(x)= 3x-1 e. y=ax’+bxtc
' 2x+1 B &
21 L p=dt—t
g )= «

21.Find the equation of the TANGENT line and PERPENDICULAR line for each function at the
point. You should have two equations per problem.

0 ye 2xl at (11) ¢. y=x++vxat(1,2)
‘j_ d. y=(1+2x) at (19)
y=—""at (4,04)
x+1

22.Let g(x) be a differentiable function (so g'(x ) exists). Find an expression for the derivative

of each function (use box rule}:
a. y=xg(x) b, y=_% o v g(x)




